y'STOVAX

ONLINE SPARES SHOP

View 5 Wood Burning (MK2)

X stovaxspares.com/appliance/stoves/view-stoves/view-5-stoves/view-5/serial-numbers-starting-cvw02000/view-5-wood-mk3/

o View 5 (MK2)
e Door Assembly

M6 x 25 HEX HEAD SCREW
M6 WASHER
M6 NUT

M8 NUT

M8 WASHER

M8 WASHER x 22mm O/D
M8 HEX THIN NUT

Read More

1/4

www.pieces-de-poele.com


https://www.stovaxspares.com/appliance/stoves/view-stoves/view-5-stoves/view-5/serial-numbers-starting-cvw02000/view-5-wood-mk3/
https://www.stovaxspares.com/appliance/stoves/view-stoves/view-5-stoves/view-5/serial-numbers-starting-cvw02000/view-5-wood-mk3/#main
https://www.stovaxspares.com/appliance/stoves/view-stoves/view-5-stoves/view-5/serial-numbers-starting-cvw02000/view-5-wood-mk3/#door
https://www.stovaxspares.com/product/na-carcass-2/

Product

Ref. Code
1 CA7680
2 CA7679

3 ME500717

4 CE7812

5 MEC9753
6 SM32

7 SM55

8 CA7664

9 MEC8788

10 MEC10625

1 ME600599

12 §5.27
13 4949
14 §5.26
15 CE7817

16 N/A Carcass

17 MEC8754

Drawing: PR10522

Description

Stockton 3/4/5/6/Exmoor/CL3/CL5 Mk2 5" Flue Adapter

Stockton 3/4/5/6/CL3/CL5 Mk2 5" Blanking Plate

Data Plate Mount

View 5/CL5 WB CE Right Hand Side Firebrick

Dimensions: 220x315x25mm

View 5/CL5 Mk2 Secondary Air Slider

Stockton/View Mk2 CE Secondary Air Slider Bush

Ashpan Tool

View 5/CL5 Log Guard

Multifunction Tool

View 5 Complete Door Assembly

View/CL3/CL5/CL8 Mk1/CL7 Inset Boiler Door Latch

Bolt

Stockton/View 5 Cleanburn Chamber

10mm x 2mm Self Adhesive Tape Seal - 2m Pack

1155mm length required.

Stockton 5/View 5/CL5 Baffle Plate

View 5/CL5 WB CE Left Hand Side Firebrick

Dimensions: 315x220x25mm

Welded Carcass Assembly

View 5 Mk2 Glass Plinth

Do you have the correct appliance?

This part is not serviceable and cannot be ordered as a
spare.

Before ordering your parts please ensure you have selected the correct appliance. To properly identify your appliance you will need to know your
serial number and/or model number. Please use the following guide to help locate your data badge which contains your serial and model number

information.

2/4

www.pieces-de-poele.com


https://www.stovaxspares.com/product/5-cast-flue-collar/
https://www.stovaxspares.com/product/5-cast-flue-blank/
https://www.stovaxspares.com/product/data-plate-mount-4/
https://www.stovaxspares.com/product/wood-brick-rh-2/
https://www.stovaxspares.com/product/secondary-slider-assy/
https://www.stovaxspares.com/product/air-control-bush/
https://www.stovaxspares.com/product/ash-pan-tool-3/
https://www.stovaxspares.com/product/log-retainer-9/
https://www.stovaxspares.com/product/riddlingdoor-tool/
https://www.stovaxspares.com/product/wood-door-assembly/
https://www.stovaxspares.com/product/door-latch-screw/
https://www.stovaxspares.com/product/clean-burn-chamber-7/
https://www.stovaxspares.com/product/clean-burn-chamber-seal-10mm-x-2mm-sa-insulation-tape-2m-pack-black/
https://www.stovaxspares.com/product/baffle-11/
https://www.stovaxspares.com/product/wood-brick-lh-2/
https://www.stovaxspares.com/product/na-carcass-2/
https://www.stovaxspares.com/product/plinth-2/
https://www.stovaxspares.com/find-your-databadge/

M4 x 8 CSK SOC HEAD SCREW

M4 x 8 CSK SOC HEAD SCREW

)

M4 x 8 CSK SOC HEAD SCREW

N M4 WASHER
¥ T M4 x 20 PAN HD SCREW

Read MoreRead MoreRead More

Product
Ref. Code Description
1 CA7596 View 5 Outer Door Frame
2 MEC9553 View/CL3/CL5/CL8/CL7 Inset Boiler Hinge Assembly
3 CE8098 View 5 WB Door Glass
4+12 4950 W 15mm x 2mm Self Adhesive Tape Seal - 2m Pack
o— 1130mm-+340mm length required.
5 ME601588 View Mk2 Air Control Handle
6 ME601583 View 5/7 Mk2 Primary Air Control Cover Plate

3/4

www.pieces-de-poele.com


https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/outer-door-casting-2/
https://www.stovaxspares.com/product/hinge-plate-assembly-2/
https://www.stovaxspares.com/product/large-door-glass-350-x-333-wxh/
https://www.stovaxspares.com/product/mid-door-seal-15x2mm-self-adhesive-insulation-tape-black/
https://www.stovaxspares.com/product/air-control-door-handle/
https://www.stovaxspares.com/product/primary-air-slider-plate-4/

Product

Ref. Code
7 CA7628

8 CA7768
9+10 5700

10 N/A

N VW-5SCKIT

12 N/A

13 CA7547

14 ME601582

15 MEC10622

16 ME600563

17 FA9510

18 ME600422

19 N/A

Drawing: PR10523

Description

View 3/5/7 Primary Air Control Slider

View 5 Woodburning Door Glass Clamp

13mm Black Door Rope Seal with Adhesive - 2m Pack
1600mm+175mm length required.

See part9 This part is not currently
available.

View 5 MF Mk2 Smoke Control Kit

See part4 This part is not currently

available.

View 3/5/7 Airwash Control Slider

View 5/7 MF Mk2 Airwash Cover Plate

View Mk2 Door Catch Slider

View/CL3/CL5/CL8 Large Shoulder Screw

CL3/CL5/CL8/CL7 Inset Boiler Mk1 Shoulder Screw - Single

Screw

View Door Spring

Only used on View 5T This part is not currently
available.

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To properly identify your appliance you will need to know your
serial number and/or model number. Please use the following guide to help locate your data badge which contains your serial and model number

information.

www.pieces-de-poele.com

4/4


https://www.stovaxspares.com/product/primary-air-control-slider/
https://www.stovaxspares.com/product/glass-clamp-for-large-glass/
https://www.stovaxspares.com/product/13mm-door-rope-seal-pack-black-4200f/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/vw-5sckit/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/air-wash-control-slider-3/
https://www.stovaxspares.com/product/air-wash-slider-plate-2/
https://www.stovaxspares.com/product/catch-slider-assembly/
https://www.stovaxspares.com/product/long-shoulder-screw/
https://www.stovaxspares.com/product/shoulder-screw/
https://www.stovaxspares.com/product/door-expansion-spring-le-030cd-01s/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/find-your-databadge/



